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QUESTION ONE: CAUSES OF INFLATION

“Weaker oil prices — depending on what's happening with the New Zealand dollar -
tends to put downward pressure on inflation,” said a Westpac senior economist.

Source: The New Zealand Herald, 8 January 2016, p. B14.

From 1 January 2016, the price of cigarettes will increase by 10 per cent, the fourth and
final scheduled annual increase, The Government has yet to announce whether it will
commit to further annual price increases but has said it wants to make the country
smoke-free by 2025.

Source: http://www.radionz.co.nz/news/naﬁonal/293137/antinsmoking-advocate-ca11s-for-further—price—hikes,
29 December 2015,

(a) Fully explain the different effects on the general price level measured by the Consumer Price
- Index (CPI) of weaker oil prices and an increase in the price of cigarettes.
In your answer, explain:

. how weaker oil prices can result in a change in inflation
. why an increase in the price of cigarettes may not cause a change in inflation.
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(i}  On Graph One below, show the impact of weaker global oil prices.

Graph One: AD/AS model Graph Two: AD/AS model
of the New Zealand economy of the New Zeal_a_nd economy
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The ANZ Bank expects the New Zealand dollar to decrease in value by year’s end.
Source: The New Zealand Herald, 8 January 2016, p. Bi4,

(i)  On Graph Two above, show the impact of the decrease in the value of the New
Zealand dollar.

Use Graph One and Graph Two to compare and contrast the impact on inflation of a
decrease in the value of the New Zealand dollar with the impact of weaker global oil prices.
In your answer, fully explain:

Y how the decrease in the value of the New Zealand dollar would affect inftation

. why the decrease in the value of the New Zealand dollar may have an impact on
inflation that is different from the impact of weaker global oil prices.
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More space for this answer is available on the following page.
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QUESTION TWO: THE BUSINESS CYCLE AND DEFLATION
(@) On Graph Three below, clearly label an example of a recession. Label this point X.

Graph Three: The Business Cycle
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Graph Four: AD/AS model of the New Zealand economy
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(i)  Use Graph Four to fully explain how a recession may lead to a period of deftation.
In your answer, include a definition of deflation.
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On Graph Four below, show the effect of a recession on either the AD or the AS curve.

More space for this answer is available on the following page.
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A slowdown of growth in China

China is important to New Zealand as a trading partner. Australia and China are our
main trading partners, and China is Australia’s main trading pariner. Therefore, any
downturn in China will impact directly or indirectly on demand for our exports.

Source (adapted): hitp://www.rbnz.govtnz/research_and_publications/speeches/2015/6012526.html

The downturn in China is likely to have a smaller impact on price levels than a
recession in New Zealand.

(c) On Graph Five below, show the impact of a downturn in China on either the AD or the AS
curve.

Graph Five: AD/AS model of the New Zealand economy
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Use Graphs Four and Five fo fully explain why a downturn in China is likely to have a smaller
impact on price levels than a recession in New Zealand.
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QUESTION THREE: THE IMPACTS OF DEFLATION

The rate of inflation in New Zealand has, in recent years, been at historically low levels
and has been falling. This is evidence of a period of disinflation. Thete is real concern
about the possibility of deflation and its potential effects on the economy.

Compare and contrast the different effects of a period of deflation on:

younger people saving to buy a first home AND older people in retirement who use their
savings as a source of interest income

New Zealand businesses producing for the New Zealand market AND New Zealand
businesses producing for export.

‘DQ%: \C{ tun (2 [\iw Qccil v~ T c"%'\;\;a recl Pl Leved /f N ——

\ba\r\c{\u“ peofle Shving e m%\ o Brel Pwme il ek From da Flodon
As dg‘“ﬁx‘\ o~ 1o (P F‘Cl\ N sV C’;\mun\ Phice LWL"I H;m, O

o Momb‘i Lot eS| e metee B P citgs\r\% PUL’U‘

oF W\Of\tﬂ. w\(_ml;{u ,- PG IK(HCS G E\oux f’]U!L- C(FT\LMCL(; N kadfﬁmtwoa,

'{ﬁm.. FLSerya \BCV-\‘(\ L\)OL\\,Cl Lopior W"\{\FLQ; (‘th +o @!’\COLU\(C‘S} ‘lve:\({ma(l

%kﬂs\r\(& {'?\A mft (,F u\{:‘v‘tn@ \l\(\dr_ L\P MOH((%Lg LJL,LLI(( NOl)

\31, C hec@u\ ; x\:\cﬁc;\.\g it L "Nr pagpu Jfo hu% }'\ou&@g,

Olelo pecpla e Pedire tund wobo Lise Theor Yure 08 G S
& bt inene il b e df L Fues Theugk i Cangg
Cile- L\)Of“{gh SN ’[/Q\C\;\ ‘)& wra, “H!‘\,(,Lé {Crnod QK‘){'“C‘ oY b.c Cluisa

H\ L% LJC-J\T T{C{{ fl_bt:t\—f_u L{ L“r\{',t_ﬁ(’f,‘t oL . HoL.\ja W, W -

{eserve \">C0\t4 Lol (,'C.‘»tJ,,LJ“ vl et ¢ f\lLfnt‘ﬂt\ {'(\’( “H?\,Lu

Clwng s il b PW‘LV“"N& L“?ﬁ mto(m TN ‘\hﬁu\g // ——

T

Nep Zeclrad Dusingses Oroclueing for 120 Niow 2eclome

ey ed L-\)\‘U not  lose or \&W'P\rk- ? o N (itﬂzlcimf\ ;Lg %H;\,ué
pratils

ASSESSOR'S
“USE ONLY

i preacsng T (e dotsle tconouy , R Seta pocdan]

(:’E\C,;'\%L_ \‘”[’; {-'E\,b"i - CLL {’: 1,(3* Li(b"\ . \ G r{ £ [LQ( ){,La Mo ({ \ i‘_'ﬁ £y 4 L‘%

Co f\'P?wrr\ PO \D«wi H)u {‘WD(LJC\! ('L v b F L_g:().:)d& O,

N-ARVTWEY 'E—)-\Cx,ua_ clean caud ! (ﬁrjotw %} A be LCV\(\V\J Uu{ 1R

VAT T & U YA et SN F_t‘{*l‘f\* o Qi‘uh'k% '[,.L‘OM[,C\ DO MCin, '{S'\:L %CV"&// _ -

Economics 91222, 2016




9
N(’l..) Zeclend Duonesyey, \U}‘a C\c,ac,u\m;j \19 r QKP({)F{‘% G Wl

(j-,‘%‘—? CKLU“\Y\% CLL.‘FLQ t\&,\ ) %E’_CCMB& h’\«, {)WLE. LL-\;’J P ’E‘.}(Lfr\.r_

JFK“ fp&*u,g ulf {"G’\L..‘“r‘ ngnf‘ﬁ‘; Lv'fl\ VL ofen_ CQ\.LC}PQ_F . CE\-(_(‘.P.-J\
.kﬁpa('T"'} {'})-\{.‘»u, bdtf ()(‘{La. SR @c:te,,{;izv-i (-Lé , e {n v c‘(_afb.‘-"a.);ﬁc

el mwere cfforde e o (B0 cuo s, et Eofs |, Tlhis Leeds

els |
.h’) Qﬁp@r’{ cb([{"; f& L')l‘(\{lr { tP X W\ € Sec fSk"‘\f& \"5(. (31N %r::,\“& : '\—Jﬁj\j“\ /

;\r\(‘l ('\Cé ‘\r\ Q\ , {, U S | e

e T ot & pre due b Sae eleen o o

(jga(&l—l}l., {Gs (e ‘LJ \'\!T-i \'\BFU\:& -\r\."\ [’{.0 (RN i fﬁ;‘l IL& o [t ((,:,"rl, ! Lk C.}""Lb

JrI— el

ASSESSOR'S
USE ONLY

Economics 91222, 2016




Excelience Exemplar for AS91222 (2016)'

Question

Grade

Total Score 22

Comment

1

E7

This is an E7 because the candidate demonstrates a clear understanding
of Economic concepts using correct Economic terminology. The discussion on the
use of oil in the production of most goods and services is linked to a general price
rise, while the development of the price competitiveness of exports receipts
effectively uses the AD/AS model. it is not an E8, as the comparison does not
discuss the number of firms affected from both scenarios.

E8

E7

This is a full and comprehensive exbfénation of two scenarios using correct
Economic terms and an effective use of the AD/AS model. The effects on the
components of Aggregate Demand {Consumption and investment for {b) and Net
Exports (d)) are explained with the required depth. The scenarios are compared
and contrasted in a short but clear manner with links to the relative movements of
the aggregate demand curves evident.

This is an E7, as the candidate has effectively discussed the effects of defiation on
first home buyers and those who use savings as a source of interest income. For
these arguments, the candidate has stated a clear point (e.g. houses are
more affordable for younger people), given a reason (e.g. lower interest rates will
make mortgages cheaper), and extrapoiated with a another point or implication
{e.g. the purchasing power of money has increased). It is not an E8 because the
discussion on the effects of deflation on business does not adequately discuss
the effect on costs and prices for each type of business.
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